ENGINEER ADVANCED LEADERS COURSE MATH PRACTICE TEST

12B’S ARE STILL REQUIRED TO TAKE THE TABE TEST; ALL EN CLASSES WILL TURN-IN THE RESULTS FROM THIS PRACTICE TEST DURING INPROCESSING. 91L STUDENTS ARE EXEMPT.
NAME_______________________

1.
Round 36.34 to the nearest one-tenth.


a.  30


b.  36


c.  36.3

d.  36.4

e.  37
2.
You have worked 8 hours on an activity you estimated would take a total of 24 hours to complete.  What is your percent completion?


a.  0.33%


b.  0.34%

c.  3%


d.  32%


e.  33%

3.
If your pace is 2.9 feet long, how many paces would it take to step off 100 feet?

a.  0.29

b.  29.5

c.  34.5

d.  39.5

e.  42.5
4.
What is the volume of a truck bed in cubic feet that is 5 feet deep by 7 feet wide by 12 feet long?


a.  350

b.  420

c.  500

d.  520

e.  550

5.
Determine the percent slope of a road if it rises 5 feet vertically in a distance of 80 feet horizontally.

a.  0.063%


b.  0.16%


c.  5%


d.  6.3%


e.  16%

6.
If the temperature is 20°C, what is the temperature in degrees F?


Given:  Temp F = (1.8 x Temp C) + 32


a.  32°


b.  48°


c.  58°


d.  68°


e.  78°

7.
If the two legs of a right triangle are 3 inches and 5 inches long, how long 
is the hypotenuse (c) ?


Given:  c = √ (a2 + b2); a = 3 inches; b = 5 inches


a.  5.5”                                                         c”       

b.  5.8”

               a = 3”

    

c.  6.0”






d.  6.2”



              b = 5”


e.  7.1”

8.
You are building a parking lot in front of your battalion headquarters.  The size of the lot is 80 feet wide by 140 feet long.  The desired thickness of the concrete slab is 0.5 feet.  If concrete costs $0.75 per cubic foot, how much will the parking lot cost?


a.  $4,200

b.  $7,467

c.  $15,000

d.  $50,400

e.  not enough information

9.
What is the volume of a cylinder in cubic inches if the radius is 10 inches and the height is 40 inches?


Given:  1 cubic foot = 7.481 gallons, π = 3.14, V = πr2h

a.  1,257 cubic inches

b.  1,500 cubic inches

c.  5,122 cubic inches

d.  10,255 cubic inches

e.  12,566 cubic inches


10.
What is the area of this trapezoidal ditch if the ditch is 2 feet deep?


a.  10 square feet



6’


b.  15 square feet

c.  20 square feet

         2’

d.  25 square feet



4’


e.  30 square feet

11.
Calculate the amount of TNT required to cut a tree that has a diameter (D) of 3 feet.


Given:  P = D2 / 40, P = amount of TNT (pounds), D = diameter of tree (inches)

a.  0.23 pounds

b.  2.23 pounds

c.  6.81 pounds

d.  32.4 pounds

e.  64.3 pounds

12.
If X = 0.25Y + 10, and Y = 20, what is the value of X?

a.  5

b.  10


c.  15

d.  20

e.  25

13.
The length of an airfield is 2,000 feet and the width is 100 feet.  If the airfield is to be covered with 4 feet by 4 feet mats, how many mats are needed?


a.  5,000


b.  12,500

c.  15,000

d.  17,500

e.  20,250 

14.
You need 600 cubic feet of sand.  If sand is sold by the cubic yard, how many cubic yards do you order?


a.  16,200

b.  600

c.  27

d.  24.8

e.  22.2
15.
How many pounds of nails are required to attach plywood panels to floor joists if 48 nails are used for each panel and the building contains 8 panels?  


Given: 106 nails per pound

a.  3.6 pounds

b.  6.0 pounds

c.  6.79 pounds

d.  18.2 pounds

e.  36 pounds

16.
What is the total area of the two figures combined?


Given:  Area of right triangle = ½ bh, Area of square = bh


a.  22

b.  48

c.  56


d.  60


e.  64

17.
If a sack of cement weighs 88 pounds, how many full sacks do you purchase if you need 1,000 pounds of cement?


a.  6.6

b.  7

c.  11.4

d.  12

e.  13.6
18.
A 3-foot radius disk has a 1-foot radius hole punched through the exact center.  What is the area of the remaining doughnut shape?


Given:  Area of circle = πr2, π = 3.14

a.  2π


b.  4π


c.  6π


d.  8π


e.  10π

19.
What is the square root (√ ) of 144?

a.  20,736

b.  5,280

c.  2,000

d.  144

e.  12
20.
A 20 feet wide by 40 feet long room is to be carpeted.  How many square yards (SY) of carpet will it take?


a.  800 SY

b.  88.9 SY

c.  29.6 SY

d.  19.4 SY

e.  9 SY
      6
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